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QUESTION 1 

1.1 [Interpretation of evidence from Sources C – L2 – LO1 (AS3); 
LO3 (AS2&3)]  
• NP was the ruling National Party
• Responsible for wrong doings during apartheid
• Party responsible for covering up its past violations
• Any other relevant response

(1 x 3) (3) 

1.2 [Interpretation of evidence from Sources C – L2 – LO1 (AS3); 
LO3 (AS2&3)]  
• Evil deeds committed by the NP
• Bad people
• Witches
• Any other relevant response

(2 x 1) (2) 

1.3 [Interpretation and evaluation of evidence from Sources C - L2 –
LO1 (AS3); LO2 (AS2); LO3 (AS2)]  
• Strategy was to outwit the ANC and the TRC
• The ANC always made themselves victims and received

sympathy 
• If we also shout we will receive sympathy
• Attention will be directed elsewhere
• Any other relevant response

(2 x 2) (4) 

1.4 [Interpretation of evidence from Sources C - L2 – LO1 (AS3); 
LO3 (AS2&3)]  
Value  
• Dirty tricks used by NP is exposed
• NP responsible for destabilising the country
• Any other relevant response

Devalued 
• Perceived to be biased
• Impression that the TRC was a witch hunt

(4 x 1) (4) 

1.5 [Interpretation of evidence from Sources C - L2 – LO1 (AS3); 
LO3 (AS2&3)]  
(a) Detainees murdered  

• Activists who never returned home after arrest and/or
imprisonment

(b) Hit Squads 
• Police unit tasked with eliminating identified activists

who were troublesome
• Any other relevant response

(2 x 1) (2) 
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 Russia used CUBA. Cuba was dependent on Russia for political
and economic support and thus will be ready to support Russia.
Russia is unwilling to antagonise the USA directly, could lead to
a Hot War.   

(3 x 2) (6) 

1.2  They support the MPLA because it had socialist leanings.  This
allows them to spread their ideology in Africa. They hope to
gain access to investment opportunities.

(3 x 1) 

(3) 

1.3  Collapse of Russia meant there were few communist allies. To
rebuild the economic landscape after the Civil war they need
investment and political backing. Economic reform would pave
the way for western investment and kick-start the economy. (3 x 2) 

(6) 
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